
F

illıH?/g , n*İ,#t .Ef )ato

ğ y#'H. sitı(4'*/Ş:+e}

ŞJ'nCla w 6xÜ

x Şar} ( €,a 1; )

(e)WhatistheintervalofdefinitİonofthesolutiopinPart(b)?

xla c,r x€ (o,ao}

This is a homogenous equation since

eFs yt,}: o €
y =- Vcrü -.

o

z)

aa -#+2*:d.r 4+4:x-

where u : I.The left hand side is u * rfl' So

u*2u2
u*1

d,u u+2u2 u2
- ,'':*r|r- u* t " u+l

f ıs:_1 f drIio':J;
1

lnlul --:[nlrl -rc

ır1{1 -!:h|z| +c'tr' a

(ıı



7

3)

4*vfr. .a-tu rJıüü
u. .F

'# (*"v) = a

C fi eaar' ) 7u rxı = €

2 /'*4+ {--P xb/=Z

v =u(zs= 4*"*dr4
(9

-- 2,,r't*

_ 7 ^^{ı')2\'

ilLÇtız' ., 2tb
4 tu

IL
A) +

/^ı)_qn4:t3**"ö{*3) 
ld rü

bz'- fra - L''*"e')

#{t" "ı] : t c^'e( t')

ı7 ' z= cL + ?-4n^Ut).'ı4-

'g' - 2y : ta "os(tz)' yfu6) : ı.

U=

:

- z.ü^t-
e

+c

+

{tr)=

--V rt)
d

/ı _ lLt
İİ

İl
IJ

c n + T4^ 4

Gl



f ) q) /
=

ü
/

Y

v

fı
y?-İy = y ( Y_ı)
y e ! C/" '' '/'/ı" n- ,2 o) /r

/
a

./ o, ılı/e

,İr'.(/t
\\ş\"

--- {,77,ı
t) Y'= Y

Y-- 7 ı
Y7

3ryr6 = (y-rtlvJ)
ı7e 3 Cfn'llı:u', 7''n/s

3

ç) Y ,=
ı/=

u^ı/.//l

rll ıç
t

2

-r'ı6y*9 = -0-3)
7 €ç o-7 /ıiıı, ,P ı.'a/

\\
uf2ıor' * r'1//o

,2/

\

(3J



-*' 

- 

i'.irç*-+i 
-

I. (zu-p) Use the subititution 
1 
, - ;, [o solve | "ii - o' ıT"ff:T1 ,ü

I vl

r) = t =ı, ", ,l : ^ -4* ^ "-rl , .rt' o
1?'-6',İz)

('N€J'^, 
-q" 4 *n| - (ı+zz) 1 _- +

çı;4t 
-e l *n| - (ı+zz) 1 _- +, -),İİ* 1-, /3 ?ı rrn /4-

-} -ü-'17t 
_ (ı+2r-')u>: t ' '\İ+a

t 1t2*"ğ= *-L
^i'+ -u- g*

5Ü#+) a*. ,?n *- +2t
e=g:

r faş 3 gL
i q"e-''r-,i = e
t!

2E 2r'+ 're '1''-- - +{ + c
4

' *'L** 4?= c +{* --Lfr ğ-x_

2e
ü&

ry

lt(*\=
rt
}oı ld-ft

9V

-P Ata'd*
zc €2o- 4

) *>4.

-3

2e

q\
-ıt'u+ qİr'n '*A''n 1 =_ o )ö ğ Fa'''t;* 

*ğğ'L a-ğ''-f* n'''^ '

ı/=/ 4-e 
= Y'f /Y= Vr Bşr*/l'

Yr= -'- / -6v ı

Yl-iY-6v')J v-t =x'

/v
dy

!_
lv

//' 
€-

#fı7-
(r^)T

x- t

(r-iv
Vh)t

/(, )
Şı

-r)

fı

cYY

(,

)

L
z

,t

'(ryı-

v 7/f

(a,ı



7) @)v(t):ba*2t.

,,,d8 a(b)-+ - 3 -' ' dt 50+2t

(c) This is a first order
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